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1. THE(r®YE 10101011 Z 2 AY#HEL (2's complement) {H4 (1) 01010100 (2).
010101012 (3) 010100112 (4) 010101103 *
2. (2E1s) XOR (4610) XOR (056)s = 4&5 A {87 (1) 4E16 (2) 1 (3) 00101110 (4) FF16
3. LUFEEIE 1/0 BESHEZEHE? (1) Accelerated Graphics Port (2) PCI Express (3)
Industry Standard Architecture (4) Long Term Evolution °
4. HREFEEGEPT] (singly linked list) 15 @ THUTERIERIIBRE? (1) EELETEHE
FriaiRaER T —BiRERIHE A —RrRVENRS (2) MPREBGEISMRATIEETR: (3) 77HLE FIfEHE
FrigmZ ks (4) 1G4S IEIRBEEI T — (B8NS -
5. oSt (Firstin First Out) BYERHSHRMEI? (1) & (2) 771 (3) el (4) £7 -
6. IPv6 fRAES - F{RMEREENRSERE AR TEAE? (1) 32 fiLiT (2) 64 firit (3) 128 firjT (4)
256 {iL7T °
TR AR o » fa] R R B (1) 802.11ac (2) 802.11b (3) 802.11g (4) 802.11n -
8. USB3.0 Z Ak A (1) 480Mbps (2) 800Mbps (3) 5Gbps (4) 10Gbps -
. NHfErE R FR R M R E 2 R BRLA? (1) H.264 (2) MP3 (3) JPG (4) ZIP -
10. DUTFEBSTREAME? (1)0 X (2)1XK (3)6 K (4) HRZXK -

for (i=5;i<0; i--) X +=i;

Z A RN

Exam Printed on 2 sides.




b0 4% K2 103 £ B K ATAE L9148 4 23X
BMIRBLAELH - ARSI RLAELY TRHABRTIEEZAR
% =8
"t B S KA
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1. CPU $0\{TiBi2f8 At 28 - £ — (a8 BN - —(EHE LI AL E2 B (IF, 1D, EX,
MEM, WB) $R{T - SR ESED B8 DIRE -

2. FENNEE CPU BRESSMAEAVITIACH BT (Pipelining) B —Tl¥ 7% - SUIE M fE
(Hazard) %4 > FRREATREMATTR -

3. EE{a):H4H 223 (Assembler) » §ReE23(Compiler) K E5EZE(Interpreter)?
4, EwER (TUBREAEXESER): WA EEEY  WHARESREY -

5. ERIALATBIFE R [ EHE A fE?

static OSStatus
SsLVerifySignedServerKeyExchange(SSLContext *ctx, bool isRsa, SsLBuffer
signedParams, uint8_t *signature, UIntlé signatureLen)
{
OSStatus err;
if ((err = SSLHashSHAl.update(&hashCtx, &serverRandom)) != 0)
goto fail;
if ((err = SSLHashSHAl.update(&hashCtx, &signedParams)) != 0)
goto fail;
goto fail;
if ((err = SSLHashSHAl.final(&hashCtx, &hashOut)) != 0)
goto fail;
fail:
SSLFreeBuffer(&signedHashes);

SSLFreeBuffer (&hashCtx);
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